[GeV]

a N,
N, dsum E;

Ratio to ATLAS

1071

1072

0.5

7000 GeV pp Underlying Event
L L I S B B B
Z(E) (40 <h<48,p""">05(0.2) GeV, éT”z > 20 GeV, 2| < 2.5)]
| m ATLAS e _
— --3-- Herwig 7.2.1 default -
—  —&— Pythia 8.308 default .\_f_j\\ n
— ¢ Sherpa 2.2.2 default E}] i

| | | | | | | | | | | | | | | | |
_l J T T T | T T T T | T T T T | I_
SR 3 =
- o .

| 1 1 1 1 " | " 1 1 1 1 | 1 1 1 1 | " 1

0 5 10 15

sum E_ [GeV]

Rivet 3.1.10, = 400k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


